Приложение 2
Решебник жёлтый
1) t = 4c




      2) ℓ1 = 1м
    V=1450м/с     ℓ=  Vt/2                                        ℓ2 = 4м           T1 = 2π√ℓ1/g

ℓ - ?    
    ℓ=4∙1450/2 = 2900 (м)                  T1 - ?             T2 = 2π√ℓ2/g  









T2 - ? 


T1 = 3,14∙2√1/10 = 1,99(c)         T2 = 3,14∙2√4/10 = 3,97(c)
T2 - T1 = 1,98(c) => T2>T1 на 1,98с

T2/T1 = 3,97/1,99 = 1,99 => T2>T1 в 1,99 раз.
Решебник коричневый
1) t = 6с            T = t/n                               T = 6/18 ≈ 0,33(c) 


n = 18                                                     ν = 1/0,33 ≈ 3 (Гц) или ν = 18/6 = 3 (Гц)  


T-?  ν-?         ν = 1/T или ν = n/t
2) ℓ = 2м                                         T = t/n

t = 1ч                  3600c               n = N/2 = 2536/2 = 1268


N = 2536  


         T = 3600/1268 ≈ 2,84(c)  



g - ?

T  = 2π√ℓ/g            g = 4∙3,142∙2/2,842 ≈10 (м/с2)

T2 = 4π2ℓ/g,   g = 4π2ℓ/T2
Решебник сиреневый
1) T = 0,5c       λ = VT        λ = 4 ∙0,5 = 2(м)         2)  T = 1c                  T = 2π√ℓ/g

V = 4м/с





    ℓ -?

       T2 = 4π2ℓ/g


       λ - ?





    ν - ?

       ℓ = T2g/4 π2









 ℓ = 1 ∙10/4 ∙3,142 ≈ 0,25(м)










 ν = 1/Т = !/1 = 1(Гц)

Решебник красный
1) x = 5 cos 6,28 t см        x = A cos ω t


2) K = 250Н/м             T = 2π√m/k

A-?, T-?, ω-?, ν-?





    n = 20

  T2 = 4 π2m/k

A = 5см = 0,05м





    t = 16c

  m = T2k/4 π2

ω = 6,28с-1






      m -?


ω = 2 π ν => ν = ω/2 π = 6,28/2 ∙3,14 = 1(Гц)


    T = t/n = 16/20 = 0,8(с)
    T = 1/ ν = 1/1 = 1(с)





    m = 0,82 ∙250/4 ∙3,142 = 4,06(кг)
